¢
'4“’ AIPIN = bt

LEAN DIY

PIPE RACKING SYSTEM
/B -



/S AIPIN B

Y E R B E S

pEIZBT A 20064858

CE@EmR: £6000m

RILAS: 31 A(2025F18)

£ = {f: 84950005 ABM(20245)



RRhE

2006.05
BT s
& 2007.01
7 nEER
2008.06 # _
£=TIT @ 201003
S O BITHIN
&
2011.10 &
EAHFEREHENSBhES™ Hx
® 2012.04
=X
_% 2012.10
el ERHRIERIEGaERS
2013.09 &
BThERPELF
2013.10 . _
ZMEtEEs ‘*-HH
- 2014.02
\EEEE. ZE
‘q 2014.05
\‘:‘ﬁ!ﬁlfﬂﬁlﬁﬁﬂih #E. SXRATE
® 2014.09
'I WE H A
# 2014.10
; HEIEES
'_,i 2014.12
2015.02 & REEDEE
R @/
2015.03 &
REEE |
2015.07 . _

MeERNEAR =

“S® 2016.06
S REGEXRIE, H
2017.03 &
®IFE, LHE/
2017.05 &
BT
2017.06 # . _
g1, FARFR=EEEAER "‘*‘ 29018.03
\ RIS
__ 201803
2019.02 -~ RIHE
REHE /
2019.08
AR |
2019.11 ®~___
TR RK GRS b
® 2020.05
2021.01 @~ EREE
BEIL{f+ERNESAR
2021.07 #
BohtiiaE=En |
2021.09 &
FRERERES |
202112 &

e

FRREEREE T 202203
| ARELERES






CONTENTS

P01

METAL JOINTS

Salzg l Sallag

Pos

METAL JOINTS

2.6 Sares P
2.3 Series P15
2.0 Series P15

ROLLER TRACKS R
P17 %}

PLASTICS

T}

H

=%
e
)

P3g |

METAL ACCESSORIES

Pas

LEVELING FEET

P41

FASTENERS [\{

n

g

sauss

il
!
T
|I'-I
1

25

|§’.

40 SQUARE F’IF‘E
I 2

27 SQUARE PIPE
Pas %

ALUMINIUM A

7]
2
H

Sal

Psg







T Series




NN\

| (]

PIPES

Coated Pipe

Powder Coated Pipe

SUS Pipe

Galvanized Pipe

Aluminum Alloy Pipe

i

AS

1. Production Craft

This craft includs single-step and automatic integrated process,

Because of the high cost of the first crafl, RELL suggests the second one. Moreover. we have successiully
researched the aulomatic integrating pipe craft.

2. Performance and Parameters
Fipe is composed of five parts,

|t can be provided according to customers different requirments en performance,

1. Colorful

Wider selection of colors and textures,

2. UV light resistance

Can be used in cutdoors,

3. Non-flammable

Mo emission of toxic fumes in fire,

4. Economical

20% less than coated pipe. 35% less than ESD pipe. 30% less than 3U3 pipe.

5. Environmental
Powder coated pipe is fully recyclable, Powder coated pipe of internal and external surface.

1. High Strength & Durablity

Surface resistant fo light abrasion or centact with melal tools.
2. High Qil & Chemical Resislance

High resistance to oil, solvents bleaches ele.

3. Non-flammable
Inherenthy non-flammable.

4. Conductive
Inherently conductive.

5. Environmental
SUS pipe is fully recyclable.

1. Economical
2. UV light & Chemical resistance
High resistance to UV light,oil solvents bleaches,etc.

3. Non-flammable
Inherently non-flammable.

4. Conductive
Inherently conductive,

5. Environmental
Galbvanized pipe is fully recyclable.

1. Environmental

Aluminum pipe achieves a superb recyclability.

2. Weight

Weight reduced by 40% comparing with steel coaled pipe.

3. Aesthetic

Alumite treatment allows for "maintenance-free” excellenl appearance that lasts for long.



Unit : mm

PE Coated Pipe 2440

Green(N)

Blue(l}
Red(R)

—— ———— -

L:g htYe low( L;';I';'};

Ivory(V)

Snow White(SW)

Milky White(MW)

28 x 1.0

T-PE10M2440

T-PE10U2440

T-PE10R 2440
T-PE10E2440
T-FE10Y2440

T-PE1OLY2440
T-PE10V2440

T-FET10G2440

T-PE10DG2440
T-PE10B2440
T-PE10SW2440

T-PE10MW2440

PE Coated Pipe 4000 28 x 0.7 28x09 28x 1.0 28 x1.1 28x 1.4 28x2.0
Green(N) T-PEO7N T-PEOSN T-PE10ON T-PE11N T-PE14N T-PE20ON
Blue(U) T-PEOTU T-PEOSU T-PE11U T-PE14U
Red(R) T-PEO7R T-PEOSR T-PE10R T-PE11R T-PE14R T-PE20R
T-PEOTE T-PEO9E T-PE10E T-PEVIE T-PE14E T-PEZ0E
T-PEOTY T-PE0SY T-PE10Y T-PE11Y T-PE14Y T-PE20Y
Lig htYellow( LY) T-PEQTLY T-PEOSLY T-PE10LY. T-PE14LY T-PE20LY
CIvery(V) TPEOZV. | TPEORV. | T-PEdOV T-PE11V T-PE14V
_ T-PEOTG T-PE0SG T-PE10G T-PE11G T-PE14G T-PE20G
Black(E) T-PEOTE T-PE0SB T-PE10B T-PE11B T-PE14B T-PE20B
Snow White(SW) T-PEO7SW T-PEO9SW T-PE10SW T-PE11SW  T-PE14SW T-PE20SW
Milky White(MW) T-PEOTMW  [RECELEI | T-PE10MW T-PE14MW  T-PE20MW
ABS Coated Pipe 4000 28x1.0 28x 2.0
Greeni(iN) T-ABS10N T-ABS20N
Blue(U) T-ABS10U
Red(R) T-ABS20R
Orange(E) T-ABS10E T-ABS20E
Yellow(Y) — T-ABS20Y
" LightYellow(LY) T-ABS10LY T-ABS20LY
Ivory(V) T-ABS20V
_ T-ABS10G T-ABS20G
T-ABS20DG
Black(B) T-ABS10B T-ABS20B

Snow White(SW)

Milky White(MW)

T-ABS20SW

T-ABS5105W

T-ABS10MW T-ABS20MW



RN\ g

PIPES
Powder Coated Pipe 4000 28x 1.0
Green(N) T-PW10N
T-PW10U
T-PW10R
T-PW10E
T-PW10Y
LightYellow(LY) T-PWAOLY
Ivory(V) T-PW10V
T-PW10G
T-PW10DG
Black(B) T-PW10B
Snow White(SW) T-PW10SW
Milky White(MW) T-PW10MW
ESD Pipe 28x%x1.0 28 x2.0
Black(B) T-ESD10B T-ESD208
Black(B) T-ESD10B2440
Flat Pipe 28x1.0
O T-FL10V
T-FL10UZ2440
Slide Pipe 28x 1.0
O T-SL10V
SUS 201 Pipe 28x0.7 28x0.9 28 % 1.1
—
STS 409 Pipe 28x0.7
T-STS072440
Galvanized Pipe 28%1.0
—
Aluminum Alloy Pipe 28 x1.2

A— - ' T-AL120X

| =



HJ Series
METAL JOINTS

B —y

T




______\\\\KN
METAL JOINTS

HJ-1

HJ-2

HJ-4

HJ-6

HJ-6B

H-1: 2 Pes
M-1/MN-2 " 1 Sl

H-2:1 Pg
H-3:1P¢
M=1/M-2 : 2 Sels

=|]] @B (]

H-4 : 2 Pes
M-1/M-2 - 2 Sels

H-5; 2 Pes
H-8 - 2 P¢s
M-1/M-2 : 2 Seis

H-5: 2 Pes
P12 0 1 Sot

SURFACE : @B Owz (OnNe OCP @PC

HJ-1A

H-14 ! 2 Pes
M-1/M-2 21 Sedl

kg/Sel ! 0145
Sets/Cin 4 /140

kg/Set 10130
Sets/Cin : 4 /170

0.235

kgiSel !
Sels/Cin o 4 1 50

H.2 - T Pes
H-4 . 1 F¢

M=1/MN-2 : 3 Sals

kglSet: 0.325
SefsfCin: 4 / 80

]
23
ﬂ E
& 2? g
kg/Sel . 0,235 H-2 "4 Pes kglZet 1 0.420
Sats!/Cin: 4 80 MN-1/N-2 : 4 Sels Sels/Cin ; 4 45

HJ-BA

kg/Set; 0.230
Sets!Cin - 4 /70

H-G ; & Pes
H-84 : 2 Pes
M-1/MN-2 -3 Sals

kgiSel ; 0.280
Sets/Cin 2 4 F 60

HJ-6C

H-BA © 2 Pes
PM-1/M-2 2 2 Sels

kg/Set - 0.100
Sets/Clin 4 7 140

kg/Set - 0.160
Sels/Cln 4 7 110



HJ-7

5

H-7 ! 2Pes kgfSet - 0.110
MN-1/N-2 : 1 Sel Sets/Ctn : 4 F90
HJ-8
[——] EI
==
Al !’
oryel B 5
35 ﬂDn ;
52 33 |
H-8 ' 1P¢ kafSet | 0.140
H-8 1 Fg¢

Sets/Cln . 4 1 130
M=1iM=2: 1 Sel

HJ-10

H-10: 2 Pes
M-1N-28612 - 1 Sat

kgiSel @ 0,120
SetsiCin ; 4/ 180

HJ-12

H-12:2 Pes kgl/Set @ 0,150
P-6:1Pe SetsiCin : 4/ 70
M-1M-2 - 1 Sal

HJ-13A

EE e
®28 28
wolka
| a5

H-13A : 2 Pcs
BM-T/M-2 1 Sat

kg/Sel 0 0.120
Sets/Cin 4 7 140

HJ-TA

D28

25

H-TA ! 2 Pes

M-1N-2: 1 Sel

HJ-9

.%ﬂw

kgiSet ! 0.090
Sets/Cin -4 7140

70

-

3
& ¢

33!

H-8 . 2 Fcs
M-1/N-2 : 1 Sel

HJ-11

kgiSel ; 0.135
SetsfCin : 4 4 150

H-11: 2 Pes
P51 Pe

ka/Set: 0,140
SatsiCin 't 4 80

MN=-1/N-2MG12 . 1 Sel

HJ-13

H-13 1 2 Pes
MN-1/M-2 1 Sat

HJ-13B

@1

QL

H-13B : 2 Pes
M-1/M-2 : 1 Set

D28 28 q
~

kgiSel 10120
Sets/Cin ;4 7 140

&

kgiSel : 0120
Sets/Cln : 45 250




_ \NN\N
METAL JOINTS

HJ-14

HJ-15

HJ-17

HJ-20

HJ-21

SURFACE ; @B OwWzZ (ONP OCP @PC

HJ-14A
(] 1 . [+ ]
»|ll ge="rop || @‘9 \-&' e 1D a
5 B\ - e
= S\ Tor
S M __B.m 3.5 o
L |
H=14 ; 2 Pegs kg/Zet ; 0335
H-G - 4 Pgs SetsCin - 4 / 45 H-14 : 2 Pes kglSet : 0.135
M-1/M-2 : 4 Sals M-1/N.2 ; 2 Sels Sets/Ctn 2 4 f 150
HJ-15A
! [ = ] 'c:'
33 o B
i = | {:,
D2
_396 27
H-15: 1 Pe kgiSet 0,085 H-15: 1 Pe kg/Set : 0.085
H-168: 1 Pe¢ EetsiCin 4 £ 200 H-184 . 1 Pe Sels/Ctn 2 4 (200

M-1/M-2MB12 © 1 Set MN-2ME12 ;1 Set

HJ-19

H-17 : 1 Pe kgfSet - 0,150 H-18 2 Pes kgiSet : 0.155
H-18 - 1 Pec SotsfCin 2 4 /100 PG -2 Pes SetsCin ;4 1 50
M=1ib-2 : 1 Sel BlaA/M-2 0 1 Sad
HJ-20A
i e I |
33 38
[ ==l »

P20/ | a5 |30
H-20 ;1 Pc kgiSet ; 0,150
H-20: 2 Pes kg/Sel: 0.150 H-1:1 P¢ Sels/Cin - 4 7 120
B2 0 1 Sat Sels/Cin - 4 /90 M-1iM-2 1 Set

HJ-23

H-23 2 Pcs kglSet : 0.150
H-21. 2 Pes kg/Set : 0.280 _ P.G : 1 Pes Sels/Cin - 4 [ 60
N-1/N-2: 1 Set Sets/Ctn : & 1 70 . MN.1/N-2: 1 Set



HJ-24 HJ-30

_'I?Eﬂ.
l
e ==-’- er&
.

o0 A

H-24 1 2 Pes ka/Sel: 0.235
| P-B:1Pc Sets/iCin - 4170 . H-30: 2 Pes kgiSet - 0.135

M-1/N-2 1 2 Sels N-1/N-2 : 1 Sot Sats/Ctn 2 4 [ 180

HJ-45

%h

N @
™ w 5 -
H-d% - 2 Pcs kgfﬁa:l 0,145 H-80 - 2 Feg i-:gFSal 0180
Ma1il=2 : 1 Sat sefs/Cin - 4 f 100 4 Ma1il-2 ;1 56t Sels/Ctn -4 FT0

HJ-90
H-890 : 2 Pe¢s kgfSel : 0.225 H-110 ; 2 Pes kgiSet  0.250

M-1/N-2 : 2 Sats SelsiCin ; 4/ T5 M-1/N-2 : 2 Sets Sels/Cin ; 4./ 7D

HJ-160 HJ-180

IE= A

BB St - -

H-160": 2 Pcs kg'Sel : 0.250 H-180": 2 Pcs kgfsel : 0,155
M-1/M-2 © 2 Sals SetgdCtn o 4 F TO M-1/M-2 01 Set Sets/Ctn - 4 [ 140




_ \NN\N
METAL JOINTS (®$33)

HJ-103

B [

Y

SURFACE ; @B OwWzZ (ONP OCP @PC

HJ-403

O

B33 35 30
H-103 ! X Fes
4 N-1/N-2 1 St

kgiSet | 0.235
SetsiCln ;4 /90

&

H-403 : 2 Pes
Pl-1IM-2 1 2 Sets

kg/Set : 0.160
Sets/Ctn ; 4 £ 110

HJ-13D

JEC

P28

-
H-13C | 2 Pcs
N-1/N-2: 1 Sel
METAL JOINTS (®28.6)
HJ-101

@286 355 30 _

H-101 : 2 P¢s
MW-1/M-2 = 1 Sal

HJ-201

=@ ([

T ol
o268 |3 30

H-301:1 Pe
H-2 1 Pe
M-AM-2. 2 Bels

kg/Sel D 0,150 H-13D . 2 Pcs kgiSet - 0,150
Sets/Cin - 4 180 M-1M-20 1 Set SelslCln ;4 1 80
HJ-102
i i
33
: 42| " Nl
1

©28/ 355 30 _
kg/Sel - 0170 - H-102 : 2. Pcs kgiSet = 0,170
SelsiCtn : 4 100 .y M-1M-2 1 Sat SelsiCin - 4./.90

5[l €D I

S

Cd

R
286 35 30

kgrSel : 0.240 H-301: 1 Pe kgrSet : 0.330
Sets/Ctn ;4 7 50 H-2:2 Pcs Sets/Cin ;4 7 G0
MN-1/0-2 ;3 Sats

H-401 : ¥ Pes
M=-1/M-2 ; 2 Sels

10

Kgloed 0,240
Seis/Cin - 4 [ 90



METAL JOINTS



R \\\\
METAL JOINTS

H-1

kg/Pe 0.067
Pc/Cln 300

H-3K (Grip Type)

kgfPe 0,120
FefCin g0
H-6A

kgiPe 0.066
PefCin 240
H-9

kgiPe 0.062
Pe/Cln 330
H-13

kg/Pe Q.053
PefCln 300

12

v

SURFACE : @B OWZ (ONP (OCP @PC

H-1A H-2 H-3 tUngrip Type?
ka/Pe 0,058 ka/Pe 0,004 kg/Pe 0,120
PefCin 80 PcfCin 200 Pe/Cin 20

H-4 H-5 H-6
kalPe 0,108 kalPe 0.045 kglPe 3.058
Pe/Cin 200 Pc/Cin 300 Fe/Ctn 300

H-7 H-7A
kgl/Pc 0.048 kglPe 0.040 kgl/Pe 0.067
PefCin 200 PefCin 300 Pe/Cin 240

H-10 H-11 H-12
ka/Pe 0054 kg/Pe 0.060 ko/Pe 0063
PelCin 300 PerCin 280 Pe/Clin 240

H-13A H-13B H-14

kgfPe 0.052 kgl/Pe .04 kg/Pe 0.056
PoiCin 330 PeiCin 540 PofCin 320



H-15 H-16 H-16A H-17

%a

kg/Pc 0.038 ka/Pe 0,048 kglPe 0045 ka/Pe 0.088
FoiCin G000 FefCin 404} FaiCin 40 PclCin 230
H-18 H-19 H-20 H-21

kgiPe 0065 kgiP< 0. 062 kgiP< 0.070 ka/Pc 0.133
FeiCin 220 PeiCin 2040 FoliCin J00 PoiCin 150
H-23 H-24 H-30 H-45
kg/Pe 0064 kalPg 0. 102 kgiPe 0062 kgiPc }.068
PerCin 180 PerCin 20 PerCin 330 PeriCin 230
H-60 H-90 H-110 H-160
kgiPe 0.083 kgiFe 0.102 kgiPe Q113 ka/Pe 0114
PelCin 1540 PelCin 154 Pe/Cln 150 PelCin 160
H-180

kgPc 0071
PelCin 300

13




 \N\\R @

14

METAL JOINTS (®33) SURFACE ; @8k 0wz ONP OcP @FC
H-103 H-403 H-13C H-13D
kaiPe 0.073 kg/Pe 0,108 kglPe 0069 kgl/Fe 0,068
FofCin 240 FelCtn 200 FofCin 1580 FefGin 180

METAL JOINTS ($28.6)
H-101 H-102 H-301 H-401

kg/Pc 0.07a kg/Pc 0.078 kg/Pc 0.120 kg/Fc 0.108
PerCin 200 PefCin 200 PerCin a0 Pe/Cin 200



METAL JOINTS (T 2.3)

H-1 H-2 H-3 { Ungrip Type?

kg/Pe 0.061 kg/Pe 0.086 kglPe 0.111 kg/Pe 0,008
Po/Cin 200 Pe/Cin 200 Pe/Cin B0 PclCin 200
H-5 H-6 H-13A H-15

kg/Pe 0.042 kg/Pc 0.055 kg'Pe 0.050 kgiPe 0.032
PoiCin 200 FPoiCin 300 PoiCin 330 Po/Cin 400
H-16 H-17 H-18 H-90

kgfPo ib.042 kg/Pc 0.0a85 kg'Pc 0,065 kgiFec G085
Percin 400 PelCin 220 PofCin 240 PefCin 150

METAL JOINTS (T 2.3 NEW)

H-1 H-2 H-3

kg/Pao 0.061 kg/Pc 0.0BG kgl/Fo 0111
PelCin 00 PelfCln 200 PelCln B0

15






@ Shaft Distance

Roller Track Width



~_A\\\\N
ROLLER TRACKS SURFACE : ®BK Owz

R-3533

kgim B3
miFc 5
mfEd] al

R-4036 ; R-54036

i 4 kgl 1.100

kgfm 1.100
miPe 384 P 4
m/Bdl 99 miBdl 40
R-4036A R-54036A
AT =
o Py
""f y 5 "-_.I . r,l-"_ .
A ) ) 5
i L / 4 P gy
if .-"‘ [} 4 i "" = . o £ .
¥ ! S L P 4
; #
L ! i
A e
/ kgim 1.100 / legfm 1.100
miPe 3,60 ' miPe 4
m/Bdl 9.0 miBdl 40
R-40225 R-40454A

©32
: L 435
Al 27.5
| 1
kg/m 1100
miFe 4 - miPc F:
rmJiBdl a0 miEd| 40

R-4045B

18



R-6016 R-6032

e - EU — -
kgim 1.450 ) kgfm 1450
WP 4 j miFG 4
m/Edl 24 /Bl 24
R-8040 R-58040

kgfm 1.620
miFo 4
Bl 16
R-8519 R-S8520
52 1
i ' T
s S|
i 27.5 3?'5
|
PEE———
kglm 2,000
P 4
Bl 16

R-8525 R-8550

19



~N\N\A\\N
ROLLER TRACKS (R-28H) SURFACE : @EBK 0wz

R-28H1 R-28H2

kg/Fo 0128
PalCin 65
R-28H3 R-28H4B

R-28H5 R-28H5B

.
%

ROLLER TRACKS (R-35H)
R-35H1 R-35H2

kalPe 112
PafCin 110

20



ROLLER TRACKS (R-40H)

R-40BH1 R-40BHZ

S,
=

y

R-40BH3 R-40BH4
&
<
R-40BHS5 R-40BHBE
// kg'Pe 0,180
PeiCtn 110

R-40BHBA R-40BH31

."'\-\._\__ i : : ¥
1 i?b kalPc 0.180

R-40BH33

21



~_N\NA\N
ROLLER TRACKS (R-40H) SURFACE : @Bk OWZ

R-40H1 R-40H2

R-40H3 R-40H6

kgiPe 0208
PefCin 0

kofPe 0.272
FofCin a0

R-40HGA

22



ROLLER TRACKS (RP-40)

RP-40A

koim 0.660
miFc 4
miBdl 40

KglFe 4
Foiin 40

RP-5030ESD2440

_ R2
30 3
=l
—so— 1
kg/m 0.400
miPeg 244
ni/'Bdl 48.8

23



D
ROLLER TRACKS (ODM) SURFACE - @ BK 0wz

R-40BHZ2B R-40BH4 A

R-40BH4B R-40HZA

‘
kafPe 0.150

&
o
. / FoiCin 40

R-40H4A R-4040H1

e

R-4040H3 R-44H1

: ‘b kgiPe 0.250
- PefCin 35

R-44H3 R-85H2A

kalPc 0.405
PaiCin 20

24



ROLLER TRACKS (R-60H)

R-60BH1

R-60BH3

R-60BHS R-60BHG

R-60BHBA R-60BHS31

/ w,
!
: kgiPe 0.267
PelCin Liks]

R-60BH33

ka/Pe 0.26F
PolCin 45

25




R \\\\
ROLLER TRACKS (R-80H) SURFACE : @ 8K 0wz

R-80BH1 R-80BH2

R-80BH3 R-80BH4

R-80BHS R-80BHE

2 -. s
s ! # xorec 0.140 =il / kgiPe 0.215

PefCin 50

R-80BHGA

ka/Pe 0.267
PelCin a5

R-80BH33

26



ROLLER TRACKS (R-85H)

R-85BH1 R-85BH2

R-85BH3 R-65BH4

R-85BHS R-85BHG

R-85BHGA R-85BH31

R-85BH33

27



_ \\\\§

28

ROLLER TRACKS (R-85H) SURFACE : @8k 0wz

R-85H1 R-85H2

kgiPe 0,200

R-85H3 R-85H31

kgiPe 0300
FoiCin 25

R-85H33







____ \N\\\W
PLASTICS

P-1

P-2

P-2B

30

T

kg/Pe
PelCtn

. kgiPc

FclCtn

kg/Pc
PelCin

P-1A

P-2A

P-3

P-5

B il kg/Pc 0.003
PefCln 400

kgiPe 0.003
PelCin S04

kg/Pc .003
FelCin 500
5

b
\7\%
B

kal/Pc 0.040
PolCin 200



Unit : mm

P-TA P-7B

P-8
kg/Pc 0.005 > kg/Pe 0.014
Pc/Cin 300 d PeiCin 100
P-10 P-11
’ *
- v
' kg/Pc 0.014 kyglPe 0.018
Pc/Ctn 100 Pe/Cin 100
P-13
.\-'\'\-\_\. '-\.l
T kglPe 0.014 kglPe 0.042
PeiCin 100 PefCin 10:0
P-15 P-15A

kgiPe 0.008 kalPe 0.007
PoiCln Q00 PeiCin 000

31



__________ \\N\\N
PLASTICS

P-L1 P-L1A

P-L2

kg/Pe 0.014 h kgiPe 0.022
PefCin 120 PciCtn g0
P-L2B P-L2C
MH‘%“ \\ 50 P
. -
gz .
.
£
]

kg/Pe 0.013 kg/Pc 0.020
PefCln 100 Pal/Cin

P-L2D P-L3

kglPc 0026 kg/Pc

PeiCin PelCin

P-L3A P-L3B

kgiPc 0.008 kg/Pe 0.088
PeiCin 700 Pe/Ctn 100

32



Unit : mm

P-L3C P-L3D
R— T — J / | 4
*gﬂ /
- 591/
//
kg/Pe 0.045
PelCin 150
P-L4 P-HJ2B

kgiPe 0.045 g
PelCtn 150

3.
.:;{#
b
U
s
ka/Pe 0,008
PclCin 400

P-25 INSTRUCTIONS

g

EFe
PeiCln

kgiPe
PoiCin

AN

0.029
500

0.057
29










_ \N\\\J v

METAL ACCESSORIES SURFACE : @BK O Wz

ka/Pe
PefCin

koiPc
PelCin

F-3A F-3B

F-3C

F-4A i Use with F-10/F-10A/F-21}

[

36



Unit : mm

F-6 F-7

kgiPc
PelCin 240

- kg/Pe n.0g2 kg/Poc 0013

PeiCin 240 Pe/Cin 800

F-9A F-10 tUse with F-4A/F-10A/F-21)
o
1135
¥ &
)

ka/Pe 0.012 . kg/Pc 0.072

PeiCin 800 Pc/Cin a0
F-10A (Use with F-4A/F-10/F-21) F-10B (Use with F-4A/F-10/F-21)

: kg/Pe 0.065
PefCln 75 PoiCin 75

F-11 F-11A

kg/Pe 0.109
PelCin 20




______\N\\N
METAL ACCESSORIES

38

F-12A/F-12B/F-12C

.-.._.-":"' P 3
o :; &
e
. rany
- '.__:_.-:. 23 .-_-.___.:_':'
F-14
L] [ ‘
r

F-16

F-18

F-18B

Part Mo. F-12A F-128 F-12C
Lierm) 235 335 435
kgiPe 0183 0225 0255
PCiCin 40 30 25

v,,.-' 3
kafPc 0,040
PelCin 120

’7?3 —
45—i—

D24

kg/Pe 0.050
PerfCin &0

F-13A/F-13B/F-13C/F-13D

F-15

F-18A

F-18C

Part Mo

L {rra)

kg/Pc
Pe/Cin

v/

RoHS

SURFACE : @8K O W2

&

F-13A F-13B F-13C F-13D
G0 1060 150 200
0039 0.046 0059 0070

350 230 18D 150




Unit : mm

F-19 F-20
= | J
\/f’f
\ kgiPc 0.015 p kgiPec 0.037
PelCin 200 il Pe/Cin 500
F-21 (Use with F-4AIF-10/F-10A) F-22

kg/Pe 0.075 kg/Po 0.073
Pel/Cin 120 PciCtn 120

F-25C F-26

39



~SN\\\v v
METAL ACCESSORIES SURFACE : @Bk OWz

F-27 F-28

Pl 154

F-30

kgiFe 0.150
PefCin 150



L Series
LEVELING FEET

PR AT TV AT AT TRRA T A ﬂ,l A el

G R AP LIRS
. : .

)
DAV VAUV
:___h____:__:_____..._n.:

MY __:_____E__,.________:__i___.________:____:__ ____:____
mﬁﬁmﬁ__ﬁ ___:_.“__._.___%_.u_,ﬁu._._._,_._,_.EE.___.____m.*_,,_.__q_ﬁz____z__i._%_f;_.
] P i AT . Al iy ..._J.._L _.___"m_...._. oy YN

I IV RN R Y LCLE R R B »
WA LA AP AATA A E AT A A S
11i;1====;aiiiisiiiimliixu

..__..._..-..-......_......_........_.1......_.__.J__J_...._....J

____r_E_F__PEEr;_____ NN ___:._;E._ _:_Eff_,_b___._g..z_:,,_:____r____,_..__:____ I =

.__ _
.L..____._:__.f@
f*:;::::;::T:;:;;:E::ﬂ=:srf-
b =11==11====1===111=11=.

i N

R



_ \N\\N
METAL ACCESSORIES

L-1

L-2A
L-3A
i
i
i
|
H
i
3§
[EgE
H
|
L-4

42

v/

RoHS

SURFACE : @8k O W2
L-2
kgiPe 0.043 kgiPe 0.052
PelCin 180 PoiCtn 140
L-3
=28~
—M8 x 50
1= _2.54.3
a0 p-""'"
FaE
T_
e 30
kgiPc 0.068 kalPe 0.071
PciCin 130 PelGin 200
L-3B
~028~
12 % 100 E_M12 % 50
{ -2-(34.3
30 o
4 1 & 20
18 — —L
@32 (32
kglPe 0,104 kglPe 0.100
Po/Cln 130 PeiCin 120
L-3D
12 x 100
33
i ]
32
Part Mo, L-3CCP10  L-3CCP12
kg/Pe 0,191 0.191 kg/Pc 0.074
Pe/Cin 100 100 Pe/Cin 200
L-4A
M12x 100
=0
20
5
l o50~
kg!Pe 0,084 kglPe 0.120
Pe/Cln 120 Pe/Cin &0



L-4B

L-4D

L-4F

L-6

L-6B

L-4C

12 x 100
12 x 50 .
| 2-E34.3
30
3
21.5 _316
50—
Parl Mo, L-4CCP10 L-4CCP12
kgiPe 0125 _ kgiPe 0.21% 0215
PeiCla BS : PeiCtn 70 70

L-4E

kgiPe
PefCin 120
L-5
— 28
4M12 x 100
A S £ YK l ]
i
T |
20 21.5 L
50— e
kgPe 0.180 kgiPg 0.033
Pc/Cin 100 Pe/Cin 200
L-6A

._F'.l-.-.
kg/Pe 0.073 kgiFc 0.083
PclGin 120 PaiCin 140
L-6C
2284
| 3
32.3 30 o 3-35.2
o =]
Crrd
kg/Pe 0.112 kg/Pc 0.103
PelCtn 100 Pe/Ctn 80



~N\\\\VN Q
METAL ACCESSORIES SURFACE : @8K O Wz

L7

B28.4

104 101 | _-{495.2

107
kg!Pe 0.460
Pc/Cin 15
L-10
2
o
L2
kgiPe 0.230 ~ kg/Pe 0.235
Pe/Cin 30 Pci/Ctn 30

L=11

kgl/Pc 3170
PefCin 60



NISEER

o ¢




___ \\\\W
FASTENERS

Picture

N-1

N-2

'."El-l ¥
N-2
N-3
>
|_:'l".
N-6

Picture

MN-81/2)

46

Part No.

N-1MBBZ
N-1MBEL

N-1MEWZ
N-1ENBZ

N-1ENWZ

N-2BZ

N-2BL

MN-2WZ2
N-2ZENBZ
N-ZENWZ

N-2M612B2

N-2ZMB12WZ

N-3M840WZ

N-6MBWZ

Part No.

N-8CPOTWZ (1/2)
N-BCP1OWZ (1/2)

N-BSUSOTWZ (1/2)

N-BACPTOMI10WZ
N-BASUSOOM10WZ
MN-BASUSTIMIOWE

N-BACPOTM12WZ
N-BACP1OMI2WZ
N-8ACP14M12WZ
N-BACP20M12W2
N-8ASUSOTM12WZ
N-BASUSOSMI1ZWZ
N-BASUSTIMIZWZ

Desc.

Mut

Mt

Baolt

Bolt

Baolt

Boll

Mylon Nut

Classification

Coated Pipe

SUS Pipe

Coated Pipe

SUS Pipe

Coaled Pipe

SUS Pipe

Surface

BZ
BL

W2
BZ

WZ

BZ
BL
WE
BZ
W2

B2

w2

WZ

wWZ

Application

G288 w TO.7
$©28 % T1.0

$28 x TOT

P28 xT1.0
$©28 x TO.9
©28 % T1.1

28 x TO.7
©23 x T1.0
©2ExT1.4
28 x T2.0
©28 x TO.7
28 x T0.9
©28 x T1.1

kg/Pc

0.002

0.002

0.007

0.007

0.005

0.017

0.002

kg/Pe

0.075

0.084

0.075
0.084
0.090

0.075

0.084
0.020

SURFACE @87 @BL ()WZ

Pc/Ctn

5400

5400

2700

2700

4000

1200

4000

FPe/Ctn

330

320

350

320

350

320

Apply

Bolt

Inch Bolt

MUt

Inch Mut

Mut

M& Nut

ME Balt

Apply

©24.6
©24.0

©26.4

©24.0
©26.0
25,6

©24.8
©24.0
$23.2
©22.0
$26.4
$26.0
©25.6



Picture Part No. Classification Application kg/Pc PciCtn Apply

MN-9
MN-GMSBZ Srew Set MNA 0.030 250 Srew Set
MN-11
®28 x TO.7
N-11CPM12AL ©75 x T0.9
- =
Coated Pipe $28 % T1.0 0.026 350 $20.4
N-11CP 1/2 AL ©28x T1.4
P28 % T2.0
N-11SUSM12AL AR X
SUS Pipe 28 x TO.9 0.037 350 ©23.3
N-11SUS 1/2 AL 28 5 T4







C Series
CASTERS




__ \\\\VN

50

CASTERS

Picture

C-4A

C-4 ESD

C-4A ESD

Part No.

C-3TPR75G

C-3TPR75GCP

C-3TPR75G5US

C-4TPR50G
C-4TPR50OGCP
C-4TPR50GSUS
CATPRT2G
C-4TPR7SGCP
C-4TPR75G5US
C-4TPR100G
C-4TPR1D0ODGCP
C-4TPR100GSUS

C-4ATPRT5G
C-4ATPRTSGCP
C-4ATPRTSGEUS
C-4ATPRI00G
C-4ATPR10DGCP
C-4ATPR100GSUS

C-4TPRESD75G
C-4TPRESDVSGCP
C-4TPRESDVSGEUS
C-4TPRESD100G

C-4TPRESD100OGCP
C-4TPRESD100GSUS

C-4ATPRESDTSG
C-4ATPRESDTSGCP
C-4ATPRESDTSGSUS
C-4ATPRESD100G
C-4ATPRESD100GCP
C-4ATPRESD100GSUS

%

{rremij

75
5

75

50
50
50
75
75
15
100
100
100

75
75

Fi-

100
100
100

75
75
75
100
100

100

75

75

75
100
100
100

Wheel
Material

TPR

TPR

TPR

TPR
TPR
TPR
TPR
TPR
TPR
TPR
TPR
TPR

TPR
TPR

TPR
TPR

TPR
TPR

TPR
TPR
TPR
TPR
TPR

TPR

TPR
TPR
TPR
TPR
TPR
TPR

b g @

32

32
32

o R

32

R T R < R

32

32

£

32

32

100

100

100

100
100
100
100
100
100
130
130
130

100
100
100
130
130
130

100
100
100
130

130

130

100
100
100
130
130
130

104

104

104

2888

104
104
130
130
130

104
104
104
130
130
130

104
104
104
130

130

130

104
104
104
130
130
130

-_4-

[

ey
{enemy)

M12 X 60
M12 X G0

Mi2 X 60

Mi12 X 60
M12 X 60
Mi12 X 60
M12 X 80
Mi12 X 60
M12 X 60
M12 X 60
M12 X 60
M12 X80

M12 X 60
M12 X 60
Mi12 XG0
Mi2 X G0
M12 X 60
M12 X 60

M12 X 60
M12 X 60
M12 X 60
M12 X 60

M12 X 80

M12 X 60

M12 X80
MI12 X 60
M12 X 60
M12 X 60
M12 X 60

M12 X 60



o -
Picture Part No. Whes! *I]‘ % Ul @1 [on
v T {emrp

Material
[ kil (il

C-5TPR100G 100 TPR 32 130 128 95 X687  T3X45
C-5TPRESD100G 100 TPR 32 130 128 95 X867  T3IX45
C-7
C-7TPR100G 100 TPR 32 130 128 95 X687  TIX45
C-7 ESD
C-TTPRESD100G 100 TPR 32 130 128 95 X687  T3X45

51



__________\\\\N

o2

CASTERS

Picture

Part No,

C-8TPR150G

C-8TPRESD150G

C-8STPUZOOR

)

150

150

200

Wheel
Material

TPR

TPR

PU

{ <

{men)

50

S0

50

(kg}

410

410

480

+ K 4
Yl @ ek

{nmk

190

190

240.5

[rrem {mem |

115X 100 84 X713

115X 100 84 X713

115X 100 B84XT13



Picture Part No. @

C-10A

C-10ATPR150G 150

C-10ATPRESD130G 150

C-10APU

C-10ASTPUZ00R 200

Wheel
Material

TPR

TPR

PU

@

50

kgl

410

410

480

4 # —H
Ul (& (el
immj) {iramy) {mm)

190

190

240.5

115X 100 84 X713

116 X100 84 X713

1154100 84 X713

53



__________\\\\N E
CASTERS

C-14 C-15

N

kgiPe 1.010
PciCin 20

54




S Series
SQUARE PIPE




I \\\\
40 Square Pipe

S-1

- 40— -
Eaglm 2.389
miPe 2.44
miBd| .76

SJ-2

kglSet 1.50
SetsiCin 2

SJ-4

kglSet
Sets/Cin 2

56

kg/Set 1.92
SelsiCin P

S5J-3

e kgl set 135
SatsiCin 2



K Series




IR \\\\

58

27 Square Pipe

K-27

__.,-;__;_ — - 7

SR,

Eaglm 2.389
miFe 2.44
m/Edl 976
K-1A K-2

kg/Pe 0.00 kgiFe Q.04

K-3 K-4

kg/Fc 0.00
PciCin a0

K-F6




Unit : mm

KJd-1 KJ-1A

- :-'.
K-1:2 Pes kg/Set : 0.000 | K-1A 22 Pes kgfset : 0.000
N-1/N-2- 1 Sel Sels/Cin : 4 /00 - N-TIN-2 01 Set Sels/Cin 1 4 /00

KJ-2

K-2:1Pe kgrSet - 0.000
K-3:1Pc Sets/Cln : 4 /00 K-4 . 2 Pcs kgrSet @ 0.G00
M-1/M-2 @ 2 Sels Ma1IM2 0 2 Sels Sels/Ctn ;4700

59









S
A Series

Welcome OEM Order




Combining Pipe Racking & Green Frame System

GAJ28-HO1 GAJ28-HO1A

GAJ28-HO2 GAJ28-HO3

€

kg/Set 0.073
SetsiCmn 138

GAJ28-HO5

kg/Sat (1 Lo}
Sels/Ctn 06

kalSet 0.088
Sels/Cin 86

S99



_ \\\\X

GA28-14A GA28-15A

1
y

kaim 0.244
m/PC 4
m/BOL. 48
GA28-16A GA28-17A-100
15
-l--—------|—|
ﬁ' N ’* T 105 ]
62 105 - e f -
1 = E i) O 2L ) ol BE R
57 | f.45 S, - 5 100 ]
o -
- B —-—
kg/m 0.368 kg/m 0,549
miPe 4 miPe 4
m/Bdi T miBdi 48
GAZ8-18A-50 GA28-19A-30

S
. 'xlh ! ._
| “w#
kam 0170
miF¢ 4
mi/Edl 48
GAJ28-B05 GAE28-46
ka/Pe 0.042
PoliCin Qo0
GAP28-19 GAP28-20
[;?’T‘/ ] 4
75
kg/Pc 0104 kg/Pe 0.100
ParCin 130 PeiCin 120

64



Pallet system assembly

1 Main Frame

GAZE-1TA-100
GAP28-20

3  Dimension Select Method

A=L-76 A=L2 -5
X=W1 +12 *=B+12
Y=L2+ 12 Y=A+12

pallet support farse

pallet connector

# Layer borad width three kinds of cellular layer board +Smm

# When Pallet connector connected with pallet suppont frame,
Please use the outer hexagon socket with electricity tool to
lock the tapping screw and set the torgue to B~10N/m

4  Frame assembly method

6  Application

Pallet horizon assembly Pallot wartical assambly

2  Paliet Separate Type Assembly

-
-

| L2/wW1

{mm)

L/W
[mm)

332 1133

403 - 1203

343 - 1143

413 - 1213

383 . 1453

423 - 1223

Wl 373- 1173

443 - 1243

| 283- 1183

453 - 1253

el 393 - 1183

463 - 1263

il 403 - 1203

473 - 4273

413 - 1213

483 - 1283

5

Hoisting assembly method

o 423 - 1223

483 - 1293

saLas







O Series

TOOLS




________\NN\N

68

TOOLS

0O-1

0-3/0-3A

0-5/0-5A

O-7

O 5 mm
L 160 mm
A 33 mim
kg/P¢ 0.025
Fe/Ctn J88
Cutting Range 3-32 mm
Set 1X03
Opnonal Parts 2X0-3A
ka/Pe 0417 70.018
Pe/Cin 12
1x0-5 ordinany tim-
Packaging ming blade
(included)  {1x0-5A high sirength
inmming blade
ka/Pc 0.060 1 0.021
L1 1800 mm
L2 Range 0-1200 mm

0-2

0-8

L1

L2
kg/Pc
PelCin

Cuthing Range
kg/Pe
PeiGin

5 mm
123 mm
16 mm

0.103

@ G- P 40 mm
0,230
32

Tube inskde and oulside itmming

krrifie

o

Thicknas

kg/Pe
FclfCin

13418 mm
3.2 mm
0050

200

For castar assembling

Ps

g

=

Sawing Range
{mm)

Max Clamp

ktain Motar

Saw Blade Type

& a5
B5 X 85
110X 75
L1
S0 X 50
110 mm

32
1.8/24 KW

250/ 275 F 300



69



Design 2025.01



